log SFR [M  /yr]

[Fig03] MoTs & SFRs 4 discussion || K0939 0.3.6 d13¢512 w/base Bzca61 || FWHM=0.5dex ; AR=1.0 pix || NGC4676B

SDSS stamp MoT-SD = M(<t)/t/A [M , /yr/kpc* ] MoT(t) / MoT(c0)

8 = T
0.7 J 11 Asari+07 SFR-SD(t) | I __________ I __________ i I : : : I
M : : : RO 25 REREEEEEEE RS R R

0.6
0.5
0.4
0.3
0.2
0.1

0.40 (4

0.35

0.30

0.25

0
LS|
T S

s,
Caus

05 S s i
RS (-0

>,
~.----"

0.0 =

—_
ee]

—_
(o)}

Cumul M, [10"M ]

MoT(t) / MoT(c0)

14 : : : : 2 0.20
12 2 s e il s
10 j j j ' ) 0.10
1 B STttt P o ‘4' . ~ NPT
8 : : : S OEy | 00s
6 9 T---WWMTWTRF pan) | 0.18
) E : : 0.16
5 7 : : : 0.14
6 0.12
St 0.10
3.5 — """""" """""" """"" <=0.5 HLR [ 4 0.08
. = <=10HLR 3| 0.06
B0 i : :
. . . = > |.0HLR 2| 0.04
25kt e, . ot 1 .
B integrated 1 X 0.02
8 0.025
7
6 0.020
5 0.015
4
3 0.010
21 0.005 |-

—
N~

0.035 =
0.030
0.025
0.020
0.015
0.010
0.005 |
0.035
0.030
0.025
0.020
0.015
0.010
0.005 :

—_ =
SN

log SFR-SD [M , /yr/kpc® ]
o0

log t [yr]



